AN

RN MAKE ARCH
# %é% /&\\\/ EXTENSIONS
, < IN PAIRS

6” STONE VENEER —
AT FRONT FACE

\

SIDE VIEW OF BURR ARCH BEARING DETAIL

SECTION

\r_

AT SIDES

DRAWN BY :

CHECKED BY :

CG

DATE : 4-9-96

DCF

DATE : 90— 14-96

XYy
"""""
. .

i SEAL F3

8230

SHEET 1 OF 2

A AN
Aa ¥
ARCH/ oy 1" DIA.
1”7 DAP TO ALLOW THE (AZN)CFF',CL)ECEQLTS CENTERLINE OF TRUSS
FABRICATE ARCH EXTENSIONS TRUSS CHORDS TO PASS.
FROM DENSE 86 SOUTHERN PINE | | — |
PRESSURE TREATED PER AWPA | | |
SPECIFICATIONS FOR GROUND CONTACT, | | |
STRUCTURAL. MAKE ARCH EXTENTIONS O | T N |———L ————————— n
IN PAIRS. MATCH MARK AND PREFIT. 44 | | | 7 | |
ARCH EXTENSIONS ARE 15" x 18" % I | | |
x 10°’=0" LONG MADE TO AN INSIDE \ | | | 10” | 10” |
RADIUS OF 102°—8 13/16". | | | | |
: I
R ____J |_ ____________ |_____‘_— ||_____—I_ ——————— | _______
s ! ]
e - e e — =
N -
2 ' %__7___7___7___/______ ________________ f]_
© / J/ / K
: & & A f ® ® ® _L°
" A 6” STONE
4” STONE VENEER VENEER | |
CONTROL POINT AT SIDES 7/ _ _
ARCH EXTENSION = \ ) . . \— 3/4” DIA.
ARCH J 3/4" DIA. 1-8 1=¢ ANCHOR BOLTS
POCKETS - - - ANCHOR BOLTS (3) PLACES
50ST —/—— — —— (3) PLACES
Y, BRACE oo TOP VIEW CONCRETE ONLY
\ W/ OGEE WASHERS PRESSURE TREATED
/| TOP VIEW OF BEARING DETAIL 5/8"
i ’ ) ” CONTROL
%\ 3 x 6 DECK | 48.530 1'—6 4853 6 3/4 ym 5 /8" ‘ POINT
g | BEARING BLOCK H
A0 - - (3) REQ'D. PER BEARING
©
i 7 @ < |4,, ,]On ,]On ,]On ,]On ,]On ,]7_,]” 4’_2’ -l—O (D_ _|_1_ REV.
® \ 2 L0 ——
(17 I . N
S — 1 > / > R W - = |
| \\\§ =——=—=o N === E I [ _______|_ _____ I
~ —_ AN Q] ( | ] N
~ ©
—_— | C|D | ” | <
- CONTROL IN | 1" CLEAR| | »
BOTTOM CHORDS T T EOINT 4x8 | | | 5
1” DAP FOR ARCH, INSIDE FACE N | / - 7 | Ve | ok
PRESSURE TREATED ARCH EXTENSION S 3/4” DIA. x N | | | " .
K 1"-6" W/ 9 " | |
» » ' > 6” HOOK o , | |
10"x 14" x 4'—7” PRESSURE TREATED BEARING ] A Y] 45.05— A. BOLTS @ | |
BLOCKS (3) REQUIRED PER SUPPORT. ~ \}/ | 16" 0.C. o =] '
/ N | |
y % | PROVIDE ~ - = = — =~ 1
3 1/2" BEVEL CUT @ BEARING % | e " i H | [ 1" DIA. CORBEL
4 3-0" BRG 1”7 CLEAR WASHERS = | ™7 o | 7 WEEPS
BLOCK. ~— | —= TYPICAL. g ) | N
4 | (5) A. BOLTS - I | |
/ | PER END o I I
4x10” x 3'=11 3/4” PRESSURE TREATED \ o SENT. STONE VENEER " il ; | g
BED PLATE. (3) REQD. PER SUPPORT. 1” DIA. WEEP | / - ~ 9987
| | o PROJECT NO.
| | |
, ! — FORSYTH COUNTY
CONCRETE CORBEL CONCRETE | | . N
- 4” STONE VENEER —4}& | STATION: 1U+21.9/ =L

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

BEARING DETAILS

DCF92035D2 |7

REVISIONS SHEET NO.
NO BY: DATE: NO[  BY: DATE: 6
1 3 TOTAL
SHEETS




127'=10 1/2” ARC

DISTANCE, CONTROL
SPLICE POINT TO CONTROL POINT
24’ /LOCATION
| ’
24
24 Ze e — 24’
24’ |
SPLICE o4’
24 (3) 8”7 x 107 24
BUILT—UP ARCH CENTERLINE " SHADED AREA
OF BRIDGE g , DENOTES PRESSURE .
IS 24 TREATED WOOD. <
& o
©
"
o0}
—\/ ’
QY ~
S 6 / 2,, v* '
~_CONTROL
CONTROL POINT
POINT ARCH L[LAYOUT DETAIL
/
/ / . 120;_0;’ _
/ /
(5
(1 / / / sy 12 13
/ / / s
/ ) FLAT cUT
/ / | @ 8”x18
/ / / BRACE FLOOR BEAM @
/ / / ANCHOR BOLT
/ K / , | WASHER BEARING.
/ 7
' / BRACE /
/ / / v
f\ q'i l %
-~ /) SHEAR BLOCKS y / |
/ Y / DENSE WHITE OAK /
| 7 ) OR HARD MAPLE |
> N <4 /17 THICK x 6" LONG /
S - V. x ARCH WIDTH. / / END POST ——
|
\ | CONTROL
| POINT
3/4” DIA. BOLT ) |
W/3” 0.D. . |
OGEE WASHERS N |
BOTH SIDES. - |
|
|
|
|
|
|
|
|
- |
- | (2) 1”7 DIA
(3) 3/4” DIA. | :
ANCHOR BOLTS ' ANCHOR BOLTS
I 2 15/16"
BN T
& R
‘4\ | I e
\U — T I —
P T — | B
() < T _ _
| . T | N PROJECT NO. E—2987
\ ~ l 1 |
w3 op, " W\ N i’ ANCHOR BOLT DETAIL o ©OUNTY
BOTTOM CHORD W/3” " 0.D. N N |
OGEE WASHERS N . N STATION: 10+21.97 —L—
BOTH SIDES. | - o R
ARCH EXTENSION / \} i 10” x 14" BEARING BLOCKS
4 /,/// [ : y \%‘\'{;\“C A?QBZ}%,' STATE OF NORTH CAROLINA
//// | 4 x 10”7 TREATED PLATE f@ <ESS/; «7 DEPARTMENT OF TRANSPORTATION
//// : E: &z- SEAL -\y_ :E RALEIGH
//// : CONTROL :: '.. 6230 .E
V4 | JOINT 208y, RS
| 2T e GINEL TS
| w0 1N BEARING DETAILS
I g
|
|
SIDE VIEW OF BURR ARCH BEARING DETAIL |
|
|
REVISIONS SHEET NO.
[\j NO BY: DATE: NO BY: DATE:
DRAWN BY : _CG DATE : 4-9-96_ | 3 JORErs
CHECKED BY :_DCF DATE : 2—14-96 DCF92035D3 [ 4




3/16" CHAMFER

ON BOTH ENDS

OF TRUNNEL

SIDE

BEARING
BLOCK

/|
WHITE 2
OAK SHEAR a
BLOCKS BRI
17%8"x R
ARCH WIDTH

A%i///////gdmr
|

Jastg

©)

_Jlf_

it
\

L
N
SHEAR BLOCK ‘\ \ \
|

VIEW

5/8" DIA. THROUGH
BOLT W/ TIMBER

%\@6{

WASHERS

1 7/8" DIA. x 57

WHITE OAK
SHEAR PIN
(TRUNNEL)

RIDGE CONNECTION

HANGER
ROD

BEYOND
17 DIA.

|

|
=
Il

|

SHEAR BLOCK DETAIL

DRAWN BY :

CHECKED BY :

CG DATE : 4—9-96

DCF DATE : 9—14-96

2” THICK TENON

UPPER BRACE

LOWER BRACE

TAPERED

WHITE OAK

BEARING

BLOCK 10"

LONG X 3" MINIMUM

BOLT

—— SHEAR

BLOCK

,Zz____# 1
! posT
/ 4” 0.D.

OGEE

WASHER
—
©

\

BRACE IN
SECTION.
LOCATION VARIES

/

/

ARCH SHEAR BLOCK DETAIL

_—— 1" DIA. HANGER

3/4" DIA. BOLT
@ TIE BEAM

EAVE
BEAMS

RAFTER

TOP CHORD

—— ARCH

\

FAVE DETAIL BETWEEN POSTS

~_ TOP CHORD| =
T %
D)
I D)
= TOP CHORD—— o
< TOP CHORD| = =
L
m
L
= = | TOP CHORD—_
2
= WHITE OAK WEDGES
r—'ZIZZ
|
aN BRACE

X—BRACE DETAIL

X—BRACING DETAIL (PLAN VIEW)

\

\

wn
el
L
|_
|_
(I
_
% % -
ﬂ —~POST ~POST =
L_ .
! | <
RUN CONDUIT i >
BEHIND POST | o
\‘Li
|
||
||
” | 2
DECK Sl B 6
¥
| !
| ¥
o O N R N
= T
T, TT""
|I
S 117 3/4" DIA. BOLT
(TN J/// W/ OGEE WASHER
/L/[_/‘r/ _I —__—__— :I ::::Z__; :_::::; Z—
LIQUID TIGHT 72N 0 \ I AN T Ve \ I
FLEXlBLE ) I p— - "I XTIT|E—-—"—] _
CONDUIT
—— BEARING
\ // BLOCK
pd
WATERPROOP——
JUNCTION
BOX. SIZE | /4
PER NEC.
I ] BEARING
T 1 PLATE
E I I
@ Il i
e Il Il
) Il Il
O | |
|1 |1
|1 |1
|1 |1
|1 |1
|| ||
o =]
- CORBEL %\V 147
\

N

TRUSS BEARING DETAIL AT PANEL POINT

PAINTED SIGN.

CONTRASTING COLOR IN GROOVE, EDGE

SEE SPECIAL PROVISIONS.

1/4” BEVEL @ EDGE Eggﬁé'ﬁﬁb
L0, FACES PRIOR
_ 2w TO PAINTING
~N~
. >
o | HARDWOOD
- - ///r-QGN,NO
KNOTS, USE
) TIGHT GRAIN,
DENSE, WHITE
OAK
1/4" DIA  MAXIMUM
HOLE MOISTURE
CONTENT
2’0" PRIOR TO 3/4”
= PAINTING SHALL -
BE 10%
FACE SIDE VIEW
SIGN DETAIL
(2) REQUIRED
PROJECT NOQ. E—298/
FORSYTH COUNTY
STATION: 104+21.9/ —L—
SHEET 9 OF 11

Ny
‘o

SEAL ¥: ¢
6230 i i

.
. .
. .
"""""

DCF92035D4

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

TIMBER DETAILS

REVISIONS

BY:

DATE:

NO

BY:

DATE:

SHEET NO.

S

/

TOTAL
SHEETS




) R »_ » 2 . 9 . ']O” o
‘ 1 5| | » T 5|l R S| N
- - 2 — ~ A | |
e © © 00 ! o0 ! ™ ~ ~ 0 ! " o0 !
3 f 3 ] ™~ ' 3 3 ] \ 3 ™~ f 3
W N \ 10 L) || Ly L0 ( [ \ o) 0y || \ o) I N L L0 / || | 1o)
- - = ) . \ | \\ - - | . \ R \
: o n R R o * - 4 + & S At § 1
o 5 5 R s a 5 5 oY I e A ke & e
| w0 . " )
= = = = I =t~ 0 - = " ~ = B B T AN S, O N e e i B =1~
! ] _ [ : ~ . * MORT|ISE - ~ ‘ N -
N ‘ N o — X Nl A i | LO\' — 27 LO\/ m T =
2 2 2 —|— #- N - . |
"<|_ \ / Clj Clj '%'_ __fo_ (/‘ — R ‘F/ . - ‘ ] _JCO (- \ *,/ MORT'SE __'é’: “‘/
- Vol BN | -
~ ~ \ © of 7 | TV R © - S \ ©
e ! =< Z : I I : ~
—— ] — 1 — — | @ 2 ' A wd Ol Ol A
~ N I ™ - - ™
%0 O ™~ ™~
2;: < T 2” 1] \ \ i
5" MORTISE M — MORTISE :Li) 0 MORTISE
INSIDE T INSIDE - — INSIDE
MORTISE FACE i S FACE = > - o FACE
N . ONLY - n f | - i ONLY - =m — — - " A ] = ONLY - "
N o = | \ - 2 2 N o 2 o 2
| s s || L © i , ! = | 1] o B ! N I | I
E el v o o .| B o N N o *
© Yo \‘ | ‘ To) 0 © CI\J | 2 2 Q | = Q
A ” A - ”» ” A \
" ’ 1/BAI | " N 2 4 /238 12 o Ol a2 3N s 127 X
A A L(l) ‘ ;,lj 1‘2 R | CI) R
A L() A\ «— A\
< p s
I © 0 00
fe © N a N
[l a 2
e ' < '\?y N
%I “ :<I— / | “\ A | ‘ / | -
:bO 2 - :(I)‘ © ‘ © E - I \ _ g
~ 0 = 1) 2 2] x| ~ < 2 : N = 1 < ~ w0 * BEE = | N 2 ~
~ o~ o~ ™~ o~ > o~ D
™ NS N N N ~ ™ R x| D | | ™ "~ U D! D | |
AR - I U ¥ - S o S © i A bl | - -
N I N /] Oy I I ™ I 00 I ™ I ™~ R ] I I /] ~ I
I 0 [ (] ' = W N I | N = =
N 2 S . Ny 00 © © =
N ® ® 10 1/2% L] | ™ > 10 1/2 =0 | X ~ >
- N N ~ ~
' v || N~ N~ R ™~ ™~ 00
=2 4 1'—4
o 5 3/8" D
1’4 KINGPOST KPP POST PO - / - POST PO
S \3 8:: 5::
(4) REQUIRED, HALF ARE MADE OPPOSITE. (4) REQUIRED, HALF ARE MADE OPPOSITE. rcr\J) a / (4) REQUIRED, HALF ARE MADE OPPOSITE.
SEE TRUSS LAYOUT AND TYPICAL SECTION. SEE TRUSS LAYOUT AND TYPICAL SECTION. h SEE TRUSS LAYOUT AND TYPICAL SECTION.
: ' 7/16" ~ |
s 1/8° - 2 g i N
= - 3/8/ % = R :>1/8” RADIUS N
~ ”» - @ \ \1 A
T+ = ‘ 5/167 5 > R < =
~ N z m T 1 o T
— M ] by N S N \ —I— —
. ,‘\\, | - N Q } af 7 :ﬁ = ' THE TIMBER FABRICATOR SHALL SUBMIT, FOR
2 ~1 /47 3 5/16"R. o B N o . |2 THE ENGINEER’S APPROVAL, SHOP DRAWINGS
> £ 7R » t, g < N Ve RN WHICH INCLUDE SLOPE CUTS AND BEVELS AT
=c\(1 [ ::(l\]‘ g — M ALL NOTCHES, DAPS, AND MEMBER SURFACES
Q /L1/4” 5 3/32,, ‘/1/32”Q 57 R 3/8” 2 % 6 DECK SEC—HON AS REQUIRED TO COMPLETE THE WORK.
™~ I I M~
PATTERN NUMBER 119
T x 6 FLOORING DROP SIDING
5 9/16”
PROJECT NO. E£—298/
2 - 5 1/4” FACE 4o
< 8 FORSYTH COUNTY
L0
7 1/8" \ < . 10+21.97 —L—
I : i | . STATION: :
 B/8l 6 3/4” FACE . @ 4 0 — ©
3 g > \}50 5 ——— 1 SHEET 3 OF 11
g _»3/8 3/8 \ ::(V ::(D 3/8”’\ < R \\‘“"é"'#' 5
o) 4"* 0 o g B — — — — — L — | :‘%“\\(.\--""'--.0(/2'% STATE OF NORTH CAROLINA
, L ~ = N - 7 To 1 1/2°- - SSEgEssia, DEPARTMENT OF TRANSPORTATION
-] ~ ~ - ‘_—:LO ; gl SEAL r'f g RALEIGH
@ <R 2 1/8” RADIUS 1/8” RADIUS<:g N BN IVE
> . - . I~ LT YOINECS
< % /) “ttennncet O
© R ' . N = i G, FR TIMBER DETAILS
M HOLE FOR o
VERTICAL SIDING 8” x 0.203” DIA.
DECK SPIKES @ 32" O.C.
S5 x 6 DECK SECTION REVISIONS SHEET NO.
NO BY: DATE: NO BY: DATE:
DRAWN BY : _CG DATE : 4-9-96 | 3 LS
CHECKED BY : DCF DATE : 9—14-96 DCF92035D5 () 4




10” ., 2 10
" 1 _6 © ] ] <_:
11-2" = i ) [ = © -
s - - R 9 < R T \ — 9 \
. < 8 p g P 1 © N — NN
“ﬁ_ \ N 1” i S > E — < > — — —
} M i N é o > o)} - @ _ N ™~ _
- | © _ i n ) - . ) - I~ 4 L) ] [ o | L o |
L ] I e 0 [ ] \ e I I ] \ e ) I [ ] | e ‘ I : I . N = s
R 2 N = 1 2 . | 3 2 Y | 5 = & 1] R O B I - 0 — L ©
© © e © © © © © O © 0 >I — | 0| N7 — | N
< O — NS s B N < A —+ N T > | N o N
N — N N = - - -~ o L o Lo~
™~ ~ 1| ) ~ B AN o R B B - o ( Lo~ R - T > D It =
N | — © N S 1o = N S— —© = M A - | © “ o~
o~ — — o~ © — W I M- \§ | © — ™ /
: — > — - ™ - > Ny T ' | | N . L /
“ A - — 5 | = e N - [[L] L e ) = ©
| N €0) =I | 2 :II ] 1 - i —
l S < \ “l 5 < 5 \ r : .
— — A M — ~ N " N~
7o T < T ©
_2” M~ \ N~ © 2::
‘ ‘ g ~ MORTISE ‘ L 27 27 MORTISE
. INSIDE ] MORTISE . INSIDE
o FACE ONLY O 4” ' INSIDE ~ FACE ONLY
) | B | ) FACE ONLY g : - ) . .
.ED N x R N / R 6”&_ 6” - ~ - Q b Nl) b N|)
~ I © P T I P T - A - P b — P b — — . - -
™ ] Ny = i :L‘O [ o 7 (I] - ' | = ] o o l R © N ©
O ? M | “QO | “LO . L | 'LO - L | “QO = ” ) e} A e} A
: 3 > g el o d —tH— el i I SNNEL - -
o | — — o)) 2 — — 2 — 5 — - |
~— |6”\_\ 6;: “l : “l /\ “l
% Bl . 2 o :
— - LO _'—_ ___\ |
— = T
- ~ 0
~— [ve) x
< | = 2 P 2 <
< © 2 I 2 <
of < : ] S N - 2 > S 3
SIS - T 3 S : = 1 g
10 > Q- . 1o o} o 0Of , AN — i
\ — ( | 0o |
N Za ~ 0N . . 1 1
= | n 2 - R I | 0 2 3 -
© 2 - . | 0 0 N 0 g 0 2 0| = 0
— © ~ © T — - - » N T2 > 2 T~
™~ T [ — N — ™~ ~ e e e — Ao = O~ — o~ > w1 =
- — <« o - ok - o~ N N D o~ a- o N
| | . \ N | N \
o o) . [a ¥ I \J . o)) | 1 R | 1 |
™~ R B N o~ | — o T~ o~ - — 1 | N -
| 5 T B 7 | t D — O B B - I i | A — — sl I
- | - - N I N x /| ( 2] =
Ny — /] ] — N I I / ] ] % 2 pars ©
Ny 2l 2 U I 2! N X Ny I — NG . —
© © © © 0 © © oo } M M }
,I’_OH \ \ ~ 1’_2” A A
> A A\ > E h '1\,—4—" O ok ™~
ve) ’ ) M~ M~ ) » © ©
1 —6 0 1 —8
POST P4 POST P4 o POST P2
(8) REQUIRED, HALF ARE MADE OPPOSITE. (8) REQUIRED, HALF ARE MADE OPPOSITE. (8) REQUIRED, HALF ARE MADE OPPOSITE.
SEE TRUSS LAYOUT AND TYPICAL SECTION. SEE TRUSS LAYOUT AND TYPICAL SECTION. SEE TRUSS LAYOUT AND TYPICAL SECTION.
=17~ | 0 3/4"
THE TIMBER FABRICATOR SHALL SUBMIT, FOR
_ _ THE ENGINEER’S APPROVAL, SHOP DRAWINGS
— C3 C3 I CZ3 CZ3 | C3 Ed—T— —AQ WHICH INCLUDE SLOPE CUTS AND BEVELS AT
\L ALL NOTCHES, DAPS, AND MEMBER SURFACES
GRIDLINE AS REQUIRED TO COMPLETE THE WORK.
CENTER PROJECT NO F—2987/
LINE )
FORSYTH COUNTY
3'-5 7/8" |\ ,T6 3/16" 5-0" 5-0" 6”
- -~ - -~ - : STATION: 10+21.9/ —L—
it
\ o ~ — — ~_° / A SHEET 2 OF 11
\l |°°_I ’_°°| - /f,—l D\ - 1°°] ’_°°| i [ iy,
y““\‘c\ "[_:f'QOZ'%, STATE OF NORTH CAROLINA
7 1/16” » RN 43
b ”» ) ) ”» » b » b » b ”» 7, 1 / 1 6 ”» ”» b » » b ”» :: Q'-..o?e /0¢...“7 “: D E PARTM E NT O F TRAN S P O RTATl O N
2 —8 671’2767 27—=9 7/16 2’—9 1/2 2’—=9 1/2 2'—9 7/16" |67]1’=2"|6 2 -8 POiT sEAL 7Y OB RALEIGH
1 1 1 1 | 1 i em i §
) 11'=0" il 11'=0” _ BN
- o, R TIMBER DETAILS
THE TIMBER FABRICATOR SHALL SUBMIT, FOR S|DE V|EW
THE ENGINEER’S APPROVAL, SHOP DRAWINGS
WHICH INCLUDE SLOPE CUTS AND BEVELS AT ‘HE BEAM REVISIONS SHEET NO.
ALL NOTCHES, DAPS, AND MEMBER SURFACES Nol Br: DATE: vl By DATE:
AS REQUIRED TO COMPLETE THE WORK. TOTAL
DRAWN BY : _CG DATE : 4-9-96 | 3 ek
CHECKED BY :_DCF DATE : o—14-96 DCF92035D6 (7 4




”

2 1/16"

3-7 1/2"

P — 1 ) ©
TP TP -+ & > 47
AV T T
T|:) \ﬂ/ - N
N
- -6 1/2"
U%/ \ @)
o | .
N, @ B © KNEE BRACE
/ > 2 y >
’ ”J /P \é T
1'=2 - | BEVEL (EAVE) ©
RADIUS \ CUT VARIES \ ‘
l SEE TABLE PRINCIPAL RAFTER
4-7 1/4” 5 BEVEL CUTS
| g PR1 11/16”
RN 5 PR2 5/8"
\ ~ N
- 0 PR3 9/16"
i
\I 5 .\ PR4 7/16
— i PR5 5/16"
[~ SYMMETRICAL ABOUT i 1
[e] \ bH}
| THE CENTERLINE ~] N A PR6 3/16
ANGLE 9° 59’ 3” Q) < PR7 1/8”
\ '—5 7/8" -5 1/2”  7'—0 1/4” 2
\ | 107 - AR - - - _ PRS 0”
\ 1"—6 3/8 -
\ 10,_6”
| | - .
\ THE TIMBER FABRICATOR SHALL SUBMIT, FOR
! THE ENGINEER’S APPROVAL, SHOP DRAWINGS
PR|NC|PAL RAI‘_TER WHICH INCLUDE SLOPE CUTS AND BEVELS AT
, ) \ , ) ALL NOTCHES, DAPS, AND MEMBER SURFACES
5-9 1/2 . 5-9 1/2 AS REQUIRED TO COMPLETE THE WORK.
MAKE HALF OF THE PRINCIPAL RAFTERS
\ AS SHOWN, HALF OPPOSITE.
\
FLOOR BEAM ENDS ARE 11°'=0"
CUT IN MOST CASES TO MAKE
SEPARATE OUTRIGGER BEAMS.
SEE DETAILS.
) ” ’ ” ’ 9 ) I} ’ 9 FLOOR BEAM BE\/EL (EA\/E)
B T SEE TABLE
FOR DOVETAIL DIMENSIONS FOR
STRINGER TO FLOOR BEAMS FB? 1/9”  om
SEE TIMBER DETAILS / 4'x8" RAFTER
—CuUT FB3 1/2”
VARIES -
f [ v FB4 1/2
T T | il T e FB5 1/2” |
- | 4 =
ipEpinln ‘ o B S FBE 12 : |
CUTS © |
| FB7 0" T
37’ 5” 6’7 5”L’5” 6” 57’ \/ARY
T T ‘
5 7/8 | 3-03/8" |/ 5 1/2° 7-01/4
B 18’_0” N T— — T ‘ —
THE TIMBER FABRICATOR SHALL SUBMIT, FOR | o
Tl OOR BEAMS THE ENGINEER’S APPROVAL, SHOP DRAWINGS | 7 =3
WHICH INCLUDE SLOPE CUTS AND BEVELS AT |
ALL NOTCHES, DAPS, AND MEMBER SURFACES COMMON RAFTER
DAP FOR POSTS NOT SHOWN IN THIS DETAIL AS REQUIRED TO COMPLETE THE WORK.
DRAWN BY : _ CG DATE : 4=9-96
CHECKED BY :__ DCF DATE : 02— 14-96

— 10” et
A O” - :LO : ::L()
© g O et
\ \ \lB ”
~ M ~ 1 E
I~ o ™ P~ y
‘ T [ 0 s [ ] L1 io‘
N — - S RN
-t P SR S B
o ] —© N L : ™
< < © ©
M " . 2 >
N N N [l I
I | N N
— - | S
\2” MORTISE
ON GRID
R, LINE. INSIDE
. FACE ONLY.
M
i
A © P? © P’f
3 7 7/8" . © P -
|
7 7/8"~ /
5 = o
2 00 -
< > ©
i N
o o i 9
] N / ~ clj
R A — . ] R
o log— ? 2 % —F
'-(l) Clj | \ '-(|) o 1l |
) . | )
Nk ‘_‘/k ‘/I R ( '
2 2 200 S
N 2 > <
o 11—6 3/4 ™ "
o o) % o))
(8) REQUIRED, HALF ARE MADE OPPOSIDE
SEE TRUSS LAYOUT AND TYPICAL SECTION.
“““\\ " Iél n "l, ,"'
s‘é‘ '\\‘é.....Aiﬁ. Q( /""»
::‘ ...-'0?‘63810 /p’f’a‘_
. COMMON RAFTER POiT sEAL 7y G
2 BEVEL CUTS i em0
\ ” =¢ ) ..'. 6\4, @Q .’../Q §
0 CR1 11/16 Wl SINEL NS
AR
?)‘ CRZ 5/8" T
N ]
B CR3 9/16"
1
) CR4 1/2" B
o : PROJECT NO. E—288/
N CR5 7/16
o = - FORSYTH COUNTY
- | CR6 3/8
| © ” | —
~_ CR7 3/8 STATION: 10+21.9/ L
| |
CR8 5/16" SHEET 1 OF 11
CR9 1/4” STATE OF NORTH CAROLINA
\
| CR10 3/16" DEPARTMENT OF TRANSPORTATION
CR11 1/8”
CR12 1/16” TIMBER DETAILS
CR13 1/16”

THE TIMBER FABRICATOR SHALL SUBMIT, FOR
THE ENGINEER’S APPROVAL, SHOP DRAWINGS
WHICH INCLUDE SLOPE CUTS AND BEVELS AT

ALL NOTCHES, DAPS, AND MEMBER SURFACES

REVISIONS

AS REQUIRED TO COMPLETE THE WORK. NO

BY:

DATE:

NO BY: DATE:

SHEET NO.

S

DCF92035D7 |7

4

TOTAL
SHEETS




SIGN

12
' DROP
// 6 SIDING
GUTTER g
—— (1996 )
/
\ |
~ D S— —
< -
6 < | |
27 L2 2 1/2” > VAN
OUTLET / o = N 0
TUBE 7 | \ ~
- :co \
ELBOW — [ «@ .
/ = <
3 N
ELBOW © =
> © =
3-9 1/2" N = | O
11°=7" R ~ 0
M —
FLBOW g
5-9 1/27 5-9 1/2" \
_\ £ / 6 3/4 <
= 5 3/16 Q-
m 6 5/16
© 6 3/4
S of .
7 Sl
< - 5/16 5/16%| o 2
D NN - ~
o S
p —
T FLOOR |
\
15/167 N | 7/1B7 | 15/167 %
\ 3 4n> (3/4,: >
Il TYPICAL
DOWNSPOUT ,
(4) LOCATIONS 3 13/16
FOLLOW EDGE
OF PORTAL
- 1'=7 3/16” R )
©
~
Oy
2 |
(@)
!
PORTAL ELEVATION |
o =,
S
(@]
| 00
| o
!
2 |
CDV
:LO‘
TRUE ELEVATION OF 2
SLOPED PORTAL PANEL >
PORTAL PANEL o
DRAWN BY :_ CG DATE : 4—9-96
CHECKED BY :__DCF DATE : 2= 14-96

7 -6 7/8"

"
) ”» >
1x8 VERTICAL =1 >
SIDING ON 3/4” ” |
PLYWOOD SHEATHING ‘.}‘;3_ [te)
RUN BOTH VERTICALLY %6 2
W/ #30 BUILDING X : "
PAPER BETWEEN. SHEATHING ~ T
FURRNG/\ 3/4 PLYWOOD » -
‘ L0
3 2x6 @ 16 GIRTS !
"+ .
X SN /) 7
— ' 7
jg‘ BRACE ’
1x4 0 | _ _ _ ‘
: oS :r v A :
11 ~ %BRACE N VERTICAL >
T ‘
% | ! ELECTRICAL CONDUIT | ¥ P’|3
A / , _ = N
— WINDOW VERTICAL SHEATHIN 2x4 @ 16 GIRTS
— MITER CORNERS ~ WALL SIDING "
M DOWNSPOUT
o
T A—A SECTION @ PORTAL
Y FLASHING ©
/ g
\\\‘\<:\‘ ‘ ())
B 4'—5" - P
™~
HEEEREEEEEEENERENNNRENRNEENEEEEEEN | _/—ELECTRICALCONDUIT
|:|:|:|:|:|:|:|:|:|:|:| 13 | - 7 - - -
R S S S S B B > % c/ WALL
[~ [ T [ T [ T T T ] —
- ::1|t5||||||||||||||||||| | |
"TIE T T T T T T T T T ] i .
T [ [ T T T T T T 1 - | D
T [ T [ T T T T [ T ] = -
T [ T [ T [ T T [ T ] o
[T T T T T "1 T T T T "1 ] S5 -0
|:|:|:|:|:|:|:|:|:|:|']\ \DOWNSPOUT
T [ [ T T T T T T I\
. e e e e e e e e 8—B SECTION @ PORTAL
e s e SO o s e e s s e s s s s s
[T [ T [ T [ T T [ 1
4 I|||||||||||||||||||||I \
J(/—/C'Illlllililllililililil
I A
[j ELEVATION @
/ Pss=== T B0TTOM OF PROJECT NO. E=2987
FLASHING \\ = o PORTAL = 44.30
I —
DRIP S:C | : | : | | FORSYTH COUNTY
I — T T 1
e STATION: 10421.87 L~
DClllll T T T T T T T 1
1 T T T T T 1 SHEET 1 OF 2

SIDE VIEW OF PORTAL

7'—6 7/8"

[CENTERLINE OF BRIDGE

“‘|||lll|',,"
& QidggeﬁBS/a;:
S
s
6230

““|||Illl',,"

Y

S

6
<,

\)
&

s““"\?\ C AROZ “ s,

‘s STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

%,

SEAL r:

PORTAL DETAILS

REVISIONS SHEET NO.
NO BY: DATE: NO|  BY: DATE:
1 3 TOTAL
SHEETS
DCF92035D8 |7 4




DETAILS

FOR END 2
CONDITION <
VARY BETWEEN N ) :
UPPER AND 0 © ©
LOWER BRACE ‘, n N <
9 0 ©y I,
3 J N \ ~ - ]
— — I T o
@]
7
=
o E 2 2
(3FU1I_/I_2”DI>I\</IE?\IHSION) 3 1/2" x 6” 3 1/2" x 67 31/2" x 6
31/2” x 6 (FULL DIMENSION) (FULL DIMENSION) (FULL DIMENSION)
6” (FULL DIMENSION)
_>~"3” | \
10'~1 13/16” J'B” __S_’l; __ﬂ' _»4;
. 10'—=1 1/16” _ . 10'—1" _ . 10'~0” _ . 9'—7" _
FLOOR X—BRACE DETAIL LB1 FLOOR X—BRACE DETAIL LBZ FLOOR X—BRACE DETAIL LBS FLOOR X—BRACE DETAIL LB4 FLOOR X—BRACE DETAIL LBS
5
— 0.203” DIA.
THE TIMBER FABRICATOR SHALL SUBMIT, FOR A ~ 2 - %0 |: BRRRRRRRRRRRRRRADRRRRRRDRRADRRRDRREEREDERIDRREDRNDDID,
THE ENGINEER’'S APPROVAL, SHOP DRAWINGS ® ‘ >
WHICH INCLUDE SLOPE CUTS AND BEVELS AT | =~ 8 INCHES
ALL NOTCHES, DAPS, AND MEMBER SURFACES = o
AS REQUIRED TO COMPLETE THE WORK. i 7/8"
: 1 ANNULARLY THREADED (RING—SHANK) SPIKE
s BR1 0 BR4
| o | 2 1/8 |
et 1t . 141 5/8" MALLEABLE IRON WASHER - 5 | |
‘ ' - - B
_ x I
N
1'—5/8” ‘ ‘
! ‘ 3" DIA ‘
~ "]
WEDGE DETAIL
| OGEE WASHERS — GREY IRON OGEE WASHER
® BR2 © BRS
t OVERALL | THICKNESS APPROXIMATE c_ 9987
BOLT SIZE | DIAMETER | AT CENTER | WEIGHT 1000 PCS. “ PROJECT NO.
" » 14'—0 9/16" , O
1420 3/8 = / 3/4” 3 3/4” 81 LBS. 1 1/8) > FORSYTH COUNTY
7/8" 31/2" 7/8" 135 LBS ] ] /I O 2/] 97 |_
- o +21. —L—
1" 4" 1" 167 LBS. SQUARE / | STATION:
HEAD SHEET 11 OF 11
- 3““‘)\\?‘..--[;550?}" STATE OF NORTH CAROLINA
m :@ ALY @
1 — |2 Ty T DEPARTMENT OF TRANSPORTATION
e BR3 o BR6 ROUND #10 MALLEABLE WESTERN WASHERS ol B e SEALTE S RALEIGH
| 5= 2 %&?7;".6\4/6 ,Neé‘.-'}ik:’:
OVERALL APPROXIMATE T 85 = /0 ---------- Q) \\@‘
14-1 3/8" . 13-9 1/2" BOLT SIZE | DIAMETER | THICKNESS | WEIGHT 1000 PCS. = AN TIMBER DETAILS
- - =° VAR
5/8” 2 3/4 5/16” 28 LBS.
3/4" 3" 3/8" 43 |BS.
” ” » )
BRACE DETAILS % 3o/ 13/%2 o Lo 3/4" DIA. LAG SCREW
NO BY: DATE: NO BY: DATE:
DRAWN BY : _ CG DATE : 4-9-96 | 3 JReeTs
CHECKED BY :__ DCF DATE : 2—14-96 DCF92035D9 [7 4




w/

3/4" DIA. BOLT

OGEE WASHERS

® ® ® ® ® @ @
87 86 | e TOP CHORD DETAIL @ :
TIE BEAM 20’ PORTAL BRACE L
(TYPICAL) / ARCH TB4 -
i N , | 24' TB3 i
/ ‘ [ I . O
, TB2
16’ ( | | 24
| | I 50’ FAVE BEAM 1"-2 7/8"
| | T —-
| | E— BOLTS ON 57 15/16"
CENTERLINE
\I/\ OF 6 x 6
| SEE DETAIL
SEE_DETAI PORTAL BRACE
BRACE
CONNECTION
| \
[l © (2) 3/4” DIA. ' TIE BEAM
% o 0 SOUTS W/ \{ AT PORTAL
| | FRAME
| S TIMBER | T
KINGPOST 3 WASHERS
| % 50" N
- KNEE BRACE
4 1/2" BETWEEN
— i POSTS
T /*FI_OOR 10 7/8" 4'—4 1/8"
| L L
| | |
T 1 i , —{_
— ] A :
in A 6'—4"
FB7 FB7 / -
— FB6 FB5/ 2
— FB1
“BOTTOM CHORD 1/
- FB2 L CONTROL POINT
_:,C_
<~
BURR ARCH TRUSS WITH EAVE BEAM EXTENSION
PROJECT NOQ. E—298/
i FORSYTH COUNTY
< THE TIMBER FABRICATOR SHALL SUBMIT, FOR
> N L THE ENGINEER'S APPROVAL, SHOP DRAWINGS STATION: 10+21.9/ —L—
= A\ < WHICH INCLUDE SLOPE CUTS AND BEVELS AT
.9 ALL NOTCHES, DAPS, AND MEMBER SURFACES SHEET 4 OF 11
A . AS REQUIRED TO COMPLETE THE WORK.
THE TIMBER FABRICATOR SHALL SUBMIT, FOR L(I) ~§<§\.¥.\----%-ﬁf9"2, STATE OF NORTH CAROLINA
THE ENGINEER’S APPROVAL, SHOP DRAWINGS SNkCSSI0 T DEPARTMENT OF TRANSPORTATION
WHICH INCLUDE SLOPE CUTS AND BEVELS AT P oif seaL 7Y 2 RALEIGH
ALL NOTCHES, DAPS, AND MEMBER SURFACES K R i em0 i f
AS REQUIRED TO COMPLETE THE WORK. : 22 e RS
= 2 9’6" | 3 Tl 3 56 3” R
© 3 | | “rn, L. FISON TIMBER DETAILS
\ It
= 10'=0" 6’ —0"
<
JUPPER X—BRACE DETAIL UBT UPPER X—BRACE DETAIL UBZ REVISIONS SHEET NO.
NO BY: DATE: NO BY: DATE:
DRAWN BY : _CG DATE : 4-9-96 1 ) JoTeks
CHECKED BY :_DCF DATE : 2—14-96 DCF92035D10 [ 4




DOVETAIL ——

CONNECTION
: 1" SHOULDER
1 — 9 -
10 3/8 o (BEARING)
_O 7/16”
_‘_Lk t
‘ 2 L 1]o=
] :Lo . N)_ I i\/l I <+ \
L —| - L | o 1 I '
—| ~ —
2" R 2" | 2" \
\ d ] 0 PLAN STRINGER
3 B R 3 - P
I H " S
1”]| 67| 6 1/8” RN / ‘
ST i ﬂ 3 i FLOOR BEAM
, . o < DOVETAIL
10°=11 15/16 10"—0
@
\
10°=1 1 /2~ 2
> TO’_O 7 ”
/16
(@]
Vi
| ) \
_ | _ .
N B N B
I
2”  _ 7  _
”» ‘ '
3 - R 3”7 y \
3 } 37 }
ST127 o STS o
10'=1 1/16” 10'=0" / |
= g }OL——FLAT
BEAM CUT AT
101 1/8" STRINGERS STRINGER
o s o
2’—1 7/8” 5 —0” 2’-11 1/8” » % >
~N - . SIRINGER TO BEAM
(1 v,\\‘
\
2” N 1'—4
- 9 \ ' \ '
3 2’ . 1‘_0 - io A |
3" > 3 g u | o
N
BIEE - Slo it [
10 —1" . 9'—7" O’ =0 e
() @ @ @ () @ () PROJECT NO. FE—2987/
ﬂ. ' . ' FORSYTH COUNTY
. 5’_0” L 30’_0” L 5’_0” L ! 24’_0” ! _ . /IO_|_2/| 97 _I—_
(LANDING) | | | (LANDING) . STATION:
s EL. 52.405 » 4% " , \
4 4 5 6 1/16 8 7/87 SHEET 10 OF 11
FL. 53.030 FL. |52.822 — cl 59168 —ﬂ' EL. 51.572 : / e
j\I/ ,]O’_On ‘J /7 ,]O’_On B /_ El_. 51 .335 ,IO’_O” - ,]O’_On | ,IO’_O” | ,lO’_O’, | N 1,_6” oé“{'\{‘éfﬂﬂ@ﬁﬁé?é’g' STATE OF NORTH CAROLINA
5*‘%,-"0'(«“33/0;,}, DEPARTMENT OF TRANSPORTATION
| . I f iT sEAL Y 2 RALEIGH
— / TIMBER DETALS
ST6
> 57 - FB5 / CONTROL POINT
BASELINE ST4 FB4 /
FLOOR PROFILE LSW
REVISIONS SHEET NO.
FLOOR PROFILE FROM DLP7 SIMILAR BY ROTATION FBS no|  er: oA no|  Br. DATE:
DRAWN BY : _CG DATE : 4—9-96_ TYPICAL DETAIL | 3 SHEETS
CHECKED BY :_DCF DATE : 9—14-96 DCF92035D11 [ 4




THE PORTAL FRAME
CONSISTS OF A PORTAL
FRAME TIE BEAM AND

(2) PRINCIPAL RAFTERS.

EAVE BEAM
EXTENTION

2x6 @ 16 PORTAL FRAMING

(2) 2x6 PLATE

12

2x6 @ 16
PORTAL BRACING

2x6 NAILER
W/ BLOCKING
NAILED TO 2x6
DECK ABOVE

W

SIDING

2x6@16

- i::::\ FAVE BEAMS i
NS \\
AR H TP
! { . B
T o= ®©
| ;;%% I -7 1/21 —
CUT FROM = i n
(2) 2x12 | ! ) w
__| o 1 o B
|
CUT FROM
(2) 2x12
DENOTES ——
DIRECTION
OF FACE i
GRAIN OF 3-9 1/241 0
PLYWOOD S S
SHEATHING A
. 5-9 1/2 L 5-9 1/2 _ 4x6
2x6 @ 16 — o _ 1L § o
© 254 © 16 |
5 /
Q)
- = = FACE OF —=
. © 46 © SIDING
% L CORNER L
- = = . 4x6@(4)
© v ~ 6 " CORNERS
1;%: FLOOR , . . I
. 3-9.1/2"
% 2x6@16
19 -2 3 (2)2x6
. PRESSURE
‘;%: TREATED
PORTAL FRAMING (OUTSIDE)
PORTAL FRAMING FRONT VIEW

(2) AS SHOWN

DRAWN BY :__ CG DATE : 4=9-96

CHECKED BY :__DCF

DATE :9—=14-96

(2) AS SHOWN
(2) OPPOSITE

12 13
T COMMON |
RAFTER PRINCIPAL
| RAFTER
DECK
EXTENSION
—— EAVE
BEAMS
I ey |
— \
—
I
—
s:r\ B _\§ |\ T
s;\ |\ B % |
Q\‘ | _%
H :\'\I\
T e
| TOP CHORD L //)7<; PORTAL
| BRACE
_ _ _ _ _ N I / _ _ _ _ _ _ _ _ _ _ ]
I//
2x6@16
4x6
—— 4x6
.
1" CLEAR | T TREATED
CONTROL
POINT
CONTROL
POINT
PROJECT NO._ E=2938/7
FORSYTH COUNTY
PORTAL FRAMING (INSIDE) o, 1042197 —L—
223 AS SHOWN SHEET 2 OF 2
2 OPPOSITE g,
f“éz'{’\\\)“fARo( /Zo," STATE OF NORTH CAROLINA
SN DEPARTMENT OF TRANSPORTATION
£ {a SEAL v % RALEIGH
T i e (3
%?@f"’cme@%\ii

DCF92035D12

PORTAL DETAILS

REVISIONS

SHEET NO.

NO

BY: DATE:

NO

BY: DATE:

S

TOTAL
SHEETS

/




POST POST
HANDRAIL ARCH ‘ )\7
~_ POST—ﬂ\\ 3/4" DIA
4 5 THRU BOLT
ACRYLIC SHEET W/ 3 1/2” 0.D.
WINDOW WALL 4 OGEE WASHERS
s TYPICAL AT
[} CENTERLINE OF
/ | ALL BRACES.
~
DECK 3/4" DIA. BOLT ) {f}
W/ OGEE WASHERS - 5or gram w/ Nl s e S
i FAVE CUT @ TOP. !
{ .rf ﬂ — OUTRIGGER 2 27
Gl N1 S .
i ==1‘% 2 r= —Z[EE:—:
X s % “A |’ : .i
- | I
N | __+ | “l /
T~ e I =
3/
f2- - - “=======k§ —
e e A G e R e e g’ | —
/ I
BEAM HANGER \ ’
TIE CONNECTION gagggﬂ
L6 A POST FRAMING
BOTTOM ARCH POINT
CHORD EXTENSION
3/4” DIA. BOLTS
W/ OGEE WASHERS
POST POST \
_\ _\ 3/4” DIA.
% | THRU BOLT
—/! \ W/ 3 1/2” 0.D.
POST OGEE WASHERS
HANDRAIL | TYPICAL AT
B ) 4 CENTERLINE OF
Nk 16 ALL BRACES.
DAP IN THE FIELD TO
CLEAR THE WASHER AND THE BOLT.
DECK
i = FLOOR BEAM W/ ‘iz_
I — R — FAVE CUT @ TOP. n
AN Y :::'_:.l__
L] | | (o) | | ROR | i_# 3
3/4” DIA. BOLT —— FTT T T N AR |
| | | | |_— FLOOR \§¥__n__ ________
Wi/ osee wishers A @1 L] = | T
i i | = L //
o)) l 1 t— I
* _
4 —— B = | = =N — - |
i e
S _ O S e O I |
! I
| \
BOTTOM
BOTTOM POST CHORD
CHORD 6” 4” FRAMING ™
- - POINT TS
o CA ,
3/4” DIA. BOLTS g“iﬁ,\.‘.\------'ﬁqw
W/ OGEE WASHERS S0y T
THE TIMBER FABRICATOR SHALL SUBMIT, FOR THE TIMBER FABRICATOR SHALL SUBMIT, FOR P A
THE ENGINEER’S APPROVAL, SHOP DRAWINGS THE ENGINEER'S APPROVAL, SHOP DRAWINGS i em0 ;o
WHICH INCLUDE SLOPE CUTS AND BEVELS AT WHICH INCLUDE SLOPE CUTS AND BEVELS AT 42 W e SRS
ALL NOTCHES, DAPS, AND MEMBER SURFACES ALL NOTCHES, DAPS, AND MEMBER SURFACES zj@%pﬁgg\s

AS REQUIRED TO COMPLETE THE WORK.

DRAWN BY :

CHECKED BY :

CG

DATE : 4-9-96

DCF

5—14-96

DATE

DETAIL @ POST 10

SOTTOM CHORD —

FB

AS REQUIRED TO COMPLETE THE WORK.

SIDE VIEW POST TO

SOTTOM CHORD DETAIL — P71

DCF92035D13

PROJECT NO. E—298/
FORSYTH COUNTY
STATION: 10+21.9/ —L—
SHEET 6 OF 11

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

TIMBER DETAILS

REVISIONS SHEET NO.
NO BY: DATE: NOo|  BY: DATE:
1 3 TOTAL
SHEETS




2 1/2”J

SEE DETAIL FOR —™—
WELDED

ASSEMBLY BEAM
HANGER TIE
CONNECTION

DECK

(2) 3/4” DIA.
x 87 LAGS

W/ 4" DIA.
SHEAR

~/
HANDRAIL
]

POST

POST

7

LAG
FWS

3/4” DIA.

ACRYLIC SHEET
WINDOW  WALL

(2) 3/4” DIA. BOLTS
W/ 4" DIA. SHEAR
PLATES NEAR SIDE

3/4" DIA. BOLT
W/ OGEE WASHERS

-
PLATES S KW AN
é % —+——— 3 —|= === l=-::::'I' =
N MWN A 2N ) N
3/4” DIA. 77— , :::::::1'_ SEEF R
BOLT P
|
X
6” 4”
BOTTOM - -~ POST
CHORD
6” _
TYPICAL 74 T 1 1/2
(2) 13/16” DIA. HOLES
///////F_ <" ON CENTER POST POST
s Vﬁ/ V;/ ACRYLIC SHEET
WINDOW  WALL
(2) /& CUSSETS ; HANDRAIL ™~ A
4" WIDE ©
| ‘ (2) /4" DiA ///r—(z) 3/4” DIA. BOLTS
, - W/ 47 DIA. SHEAR
1/4 ?VEEELD[E)[E)TA'L FOR ] /- gcgrvasAG PLATES NEAR SIDE
13/16" DIA. (2) 1/4" GUSSETS ASSEMBLY BEAM i
HOLES ON [ 1/4 x 5 PLATE NEAR SIDE ONLY HANGER TIE
PLATE CONNECTION
CENTERLINE \\ 3/4” DIA. BOLT
| |
N\ |$_$7 |
PLT 1/4” L= .
x 4 DAP DECK | |
, FOR LAG RS N
1’-3 1/2 & 2.1/2 HEAD (TYP.). B rallicols
— J [:V—Eﬁz A =—=—— == F=
BACK PLATE IS < 7
, , / BEAM WIDTH ‘L‘E_li'—_l—'r_"rl_il—_l—‘ > F==== = eSS S E S E O
6 10 1/2 x 1/4” THICK x <
| HEIGHT (VARIES). 5 5 S 577 N i 57 Ny i b7 N
) 5" (2) 3/4" DIA—— OUTRIGGER
N ) x 6" LAG SCREWS |
N1 1/27 W/ 4”7 DIA. Te AN
~ —>—ﬂ<— SHEAR PLATES. gl
A " g ’ " POST
|- | 1/4” SIDE PLATES 3/4” DIA. 6 4
o 1o ///r_-AND BOTTOM PLATE BOLT
~ | IN U—SHOE SEAT.
|
0 BOTTOM
| CHORD
73 TYPICAL

SBEAM HANGER TIE CONNECTION

(PROVIDE SHOP DRAWINGS FOR APPROVAL)

DRAWN BY :

CHECKED BY :

CG

DCF

DATE

4-9-96
DATE : 2—14-96

FLOOR BEAM W/—
EAVE CUT @ TOP.

FRAMING
POINT

3/4" DIA. BOLTS

W/ OGEE WASHERS

SIDE VIEW POST TO
BOTTOM CHORD DETAIL

3/4” DIA.
THRU BOLT

w/ 3 1/2” 0.D.
OGEE WASHERS

TYPICAL AT

CENTERLINE OF

ALL BRACES.

BOTTOM
CHORD

5
B
FLOOR BEAM W/ __
EAVE CUT @ TOP.
—F

POINT

3/4” DIA. BOLTS
W/ OGEE WASHERS

SIDE VIEW POST TO
BOTTOM CHORD DETAIL

3/4” DIA.

THRU BOLT

W/ 3 1/2" 0.D
OGEE WASHERS
TYPICAL AT
CENTERLINE OF
ALL BRACES.

Pa

3 2
S =
S =
= =
H =
= =
R ¢ =
= 2 6230 : =
- 3
- -~
% <
” ~

THE TIMBER FABRICATOR SHALL SUBMIT, FOR

THE ENGINEER’S APPROVAL, SHOP DRAWINGS
WHICH INCLUDE SLOPE CUTS AND BEVELS AT

ALL NOTCHES, DAPS, AND MEMBER SURFACES

THE TIMBER FABRICATOR SHALL SUBMIT, FOR
THE ENGINEER’S APPROVAL, SHOP DRAWINGS
WHICH INCLUDE SLOPE CUTS AND BEVELS AT
ALL NOTCHES, DAPS, AND MEMBER SURFACES
AS REQUIRED TO COMPLETE THE WORK.

AS REQUIRED TO COMPLETE THE WORK.

PROJECT NO. E—298/
FORSYTH COUNTY
STATION: 10+21.9/ —L—
SHEET 7 OF 11

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

TIMBER DETAILS

REVISIONS

NO

BY:

DATE:

NO

BY:

DATE:

SHEET NO.

S

DCF92035D14 | 1)

/

TOTAL
SHEETS




POST POST N,
|
M// M// POSTﬁ\
| POST POST
an ACRYLIC SHEET M/ M//
HANDRAL —~_| . WINDOW WALL 2 /' FLOOR BEAM \
N — . HANDRAIL —~____ OUTRIGGER
” i 3 4‘” DlA.
4 2) 3/4” DIA. BOLTS SEE DETAIL——— "
;ggEl\\ﬁlvEgll__\[()EE[B)EAM (2) 3/4” DIA. x| 6" /_\(N/) 4/ DIA. SHEAR Jv'}R%”BSLg FOR WELDED u (4) 3/4” DIA. x 6] OV(IDI\ngCl_)l\/% vSv:ELET
HANGER TIE LAG SCREWS PLATES NEAR SIDE OLEL WASHERS ASSEMBLY BEAM LAG SCREWS ) 3/4” DIA.
CONNECTION 2 | TVPICAL AT HANGER TIE (2) 3/4° DIA. BOLTS THRU BOLT
- N 3/4” DIA. BOLT i NN ALL BRACES, OCEE WASHERS
A W/ ootk wShers ] N ﬁ I o
) . AN FLOOR BEAM W/ | : DECK "k ” :
(2) 3/4" DIA. B hoOn PEAM RN (2) 3/4” DIA. | B 3/4” DIA. BOLT ALL BRACES.
x 6" LAGS | / ]| = S y : B —— x 6" LAGS == W/ OGEE WASHERS L. | o
ok e QLB B LA | o E— Yok O iy PRSP smanor
PLATES T__fll—_,_thr_,_ ! Sk SR e o o o e ot = s = I | J,“ : ‘ PLATES N 'i; —:“I_V‘ ==
N bod : — — 4 TR |
Ea e e e Ee e B al : | o < 5 5 s |t ——— : j
= = - ) | A___ 1 | | i
3/4” DIA. — : / < i - 3/4” DIA. — F=== R |
BOLT a ¢ — — BOLT } B T '
| \\ ®: I 1 BOTTOM By = e —— = F= :_::'f — : : @\ : \\
| |
BOTTOM /] 6" 4” POST CHORD d BOTTOMl
CHORD FRAMING - — \ CHORD
BEAM HANGER POINT HE CONNECTION A
TIE CONNECTION €V/4”Og|EAE. V?/géL?ZRS S0TTOM - 4 POST 3/4” DIA. BOLTS
/ CHORD - -—— W/ OGEE WASHERS
THE TIMBER FABRICATOR SHALL SUBMIT, FOR THE TIMBER FABRICATOR SHALL SUBMIT, FOR
THE ENGINEER’S APPROVAL, SHOP DRAWINGS THE ENGINEER’S APPROVAL, SHOP DRAWINGS
WHICH INCLUDE SLOPE CUTS AND BEVELS AT WHICH INCLUDE SLOPE CUTS AND BEVELS AT
ALL NOTCHES, DAPS, AND MEMBER SURFACES ALL NOTCHES, DAPS, AND MEMBER SURFACES
AS REQUIRED TO COMPLETE THE WORK. AS REQUIRED TO COMPLETE THE WORK.
|
POST POST y
% % ’
/ / ACRYLIC SHEET
/! WINDOW WALL
HANDRAIL
SEE DETAIL T
FOR WELDED » » —(2) 3/4” DIA. BOLTS
ASSEMBLY BEAM : ° \(/v/) o S 3/4" DIA. BOLT FLOOR SEAM
HANGER TIE (b) 3/4” DA, x o S ATES NEAR SIDE W/ OGEE WASHERS
CONNECTION /LAG doREWS
"y ) — DECK
] i | ! 3/4” DIA. BOLT |
(2) 3/4” DIA.ﬁ _\ IS{? | | {g | W/ OGEE WASHERS __ STRINGER
) T - N B _
/A N 1181 B S | | + / PROJECT NO. E—298/
M 1] VS Nz L
PLATES i [aN | |/
< B IRl A , )# P %L FORSYTH COUNTY
J::___' — T = :'L__—I' - . I I I I I
. F===7 SN R 7 B 7o THE TIMBER FABRICATOR SHALL SUBMIT, FOR | o |
gé‘tT AT — = = = THE ENGINEER'S APPROVAL, SHOP DRAWINGS i = — STATION:  10+21.97 —L—
s T PN N S WHICH INCLUDE SLOPE CUTS AND BEVELS AT > i ol RS
i 2] 'z ALL NOTCHES, DAPS, AND MEMBER SURFACES [ = N — ] SHEET 8 OF 11
F==—1 ANEEE I B AS REQUIRED TO COMPLETE THE WORK. %( b= f
e e‘g’:\‘\’\CARO'Z},,' STATE OF NORTH CAROLINA
BEAM HANGER \\ _.~$§..~"0'<«‘ass/o,}j-... DEPARTMENT OF TRANSPORTATION
TIE CONNECTION BOTTOM CHORD FLOOR BEAM i3 seAL 7y B RALEIGH
BOTTOM ) ) POST BEYOND E’—o:.'. 6\ 6230 Q¢ .'.:\:5
CHORN 6T 4 KING POST — W AN
. PO TIMBER DETAILS
REVISIONS SHEET NO.
NO BY: DATE: NO BY: DATE:
DRAWN BY : _CG DATE : 4-9-96 | 3 JReeTs
CHECKED BY :_DCF DATE : o—14-96 DCF92035D15 | ) 4




LIGHTING FIXTURE SCHEDULE NOTES

NOTES:
PAN EL ’QA’ 1. PROVIDE WITH GROUND BAR.
2. SCIR = 10,000A

SERVICE: 120/208V,39,4W
MAINS: 225A MLO
MOUNTING: SURFACE
TYPE: BRANCH CIRCUIT

WIRE | BRKR BRKR | WIRE

LOAD SIZE | SIZE %T ABC %T SIZE |SIZE LOAD

AWG |AMPS [~ | AMPS | AWG
LTG — OUTDOOR 10 |20 |1 — N— 2 |20 10 | EXITS & SECURITY/NL
LTG — OUTDOOR 10 |20 |3 — N 4 |20 10 | EXITS & SECURITY/NL

FLECIRICAL SYMBOL SCHEDULE

SYMBOL

DESCRIPTION

O

WALL OUTLET — INCANDESCENT, COMPACT FLUORESCENT, OR HID FIXTURE AS SCHEDULED.

'MS1 PANEL BOARD SCHEDULE
SERVICE: 480/277V, 38, 4W MAIN BUS: 1200A
TYPE: CIRCUIT BREAKER S.C. RATING: 14,000A RMS, SYM.
UNIT | LOAD C.B. FRAME | TRIP WIRE & CONDUIT REMARKS
SERVED AMPS AMPS
1 MCC1 225 175 SEE POWER RISER
2
3
4
5
6
PE DESCRIPTION
HIGH INTENSITY DISCHARGE
HB SURFACE WALL—MOUNTED FIXTURE WITH 10” DIAMETER ROUND DIE—CAST ALUMINUM HOUSING,
ALUMINUM LENS GUARD, TEXTURED CRYSTAL GLASS DIFFUSER, U.L. WET LOCATION LABEL, HPF
BALLAST AND 50—WATT E17HPS LAMP. FINISH SHALL BE PAINTED, COLOR TO BE SELECTED BY
ARCHITECT. MOUNT 6’—8” AFF TO BOTTOM OF FIXTURE UNLESS INDICATED OTHERWISE ON
DRAWINGS.
BEGA 2978S OR EQUIVALENT BY ALUMILITE
DRAWN BY : _ CG DATE : 4=9-96_
CHECKED BY :_ DCF DATE : 2—14-96

1.

EXACT LOCATION OF LIGHTING FIXTURES SHALL BE AS SHOWN ON ARCHITECTURAL REFLECTED CEILING
PLANS. ELEVATIONS AND DETAILS. FIXTURES NOT SHOWN ON ARCHITECTURAL DRAWINGS SHALL BE
LOCATED AS INDICATED ON ELECTRICAL DRAWINGS.

CATALOG NUMBERS SHOWN IN THE LIGHTING FIXTURE SCHEDULE DO NOT NECESSARILY INCLUDE THE
ACCESSORIES SPECIFIED IN THE FIXTURE DESCRIPTION. THE CONTRACTOR SHALL PROVIDE ALL
SPECIFIED FIXTURES WHETHER THEY ARE INCLUDED IN THE CATALOG NUMBER OR NOT.

IT IS THE CONTRACTOR’S RESPONSIBILITY TO PROVIDE LIGHTING FIXTURES WHICH FIT THE ACTUAL
CEILINGS BEING PROVIDED. VERIFY WITH GENERAL CONTRACTOR THAT FIXTURES SPECIFIED WILL FIT
CEILINGS PRIOR TO SUBMITTING SHOP DRAWINGS. NO EXTRA PAYMENT WILL BE PROCESSED FOR
CHANGES DERIVED FROM FAILURE TO COMPLY WITH THIS REQUIREMENT.

EQUIVALENT FIXTURES FROM MANUFACTURERS NOT LISTED IN THE LIGHTING FIXTURE SCHEDULE

MAY BE SUBMITTED FOR APPROVAL IN LIEU OF THOSE SPECIFIED, IN CONFORMANCE WITH THE
SPECIFICATIONS.

TWO—CIRCUIT LIGHTING TRACK SHALL INCLUDE A DEDICATED NEUTRAL CONDUCTOR FOR EACH
CIRCUIT.

PROJECT NO._8.2625101
FORSYTH COUNTY
STATION:

STATE OF NORTH CAROLINA

DEPARTMENT OF TRANSPORTATION

RALEIGH

ELECTRICAL
REVISIONS SHEET NO.
NO BY: DATE: NO BY: DATE: E 1
| 3 dAters
2 4




oo 7 CTTTTTT T RN e
| | \\ //
| I N /
| | N /
| I AN /7
L J N /
____________ _i i_____________ \;__ ______________________//
| NEW BUILDING |
| |
e 116°—8” _
45’ —Q 14 -8 31°—0" 1’-0" Cﬁ
ki CONTRACT LIMIT > _0’ 8 _0’ o
\ 0
\ N
3
\ 1'=0" | |_ N :
- 9
EXIST. — -
) STAIRS 2
? h
| -~ | | STAIRS <|3
o] (I o |
- ‘ RAMP L
3 \ = " |
S " ES L | / |
Tl - | —  J|RAMP Y s ~
C\]‘ N LO' “l 2
— 00 o
_____________________________________________________________________ -7 ] |
| ] —— -
| - 2 ™~
| w €@]
A ELEVATED CONCRETE WALKWAY 10 MESDA |
2| o BLDG 2 :
<& = G OF BRIDGE ¢
i - 91'—2” 8'—0” =
: ~1'—Q0" |
! ‘
_______________________________________________________________ L Ny
EXIST. BLDG | — O ]
70O BE REMOVED (NIC) T o N
IN :('D: ©
- — N u
- 4” SLAB ON
_— GRADE ©
— 0
- — \\\ - ) t
\
\
\
\ -
\\ b ’
\ R 8
2'—8 10 —4 £-8"  10—4" |4'-8" 10 —4” |4-8"| 10 -4" |4-8"| 10°—4" 21'=0" 5—8”|f 5 -8
[l
STAIRS
PLAN 120" 1—0{| 1"
|
SCALE 1/8"=1"-0"
" G PROJECT NO._8.2625101
S @ (10
i—E;(RAE)CIN C? l C? ? ? Q? 6‘3 FORSYTH COUNTY
| X=BRACING /N | { .
= : . ) STATION:
= 7 ! =
II \ " | N I I I I J':Ii
\/'\/ \/ \/ \/ \/ \/ i STATE OF NORTH CAROLINA
B R R A R i e R e R R D i D i D = DEPARTMENT OF TRANSPORTATION
| : RALEIGH
=l
gi OVER SR—2456 (OLD HWY. 52)
|
T T T T Tttt ST T Tttt T ST Tt T - AT OLD SALEM, NORTH CAROLINA
PLAN VIEW OF UPPER X—BRACING TIP NO.: E—2987
REVISIONS SHEET NO.
NO BY: DATE: NO BY: DATE: E 2
DRAWN BY : __CG DATE : 4-9-96 | 3 JORErs
CHECKED BY :__ DCF DATE : 2—14-96 % 4




NOTES:

THE TOP SURFACE OF THE END BENT CORBELS, & THE SECTION
BETWEEN CORBELS, SHALL BE CURED IN ACCORDANCE WITH THE
STANDARD SPECIFICATIONS EXCEPT THAT THE MEMBRANE CURING
METHOD SHALL NOT BE USED.

FOR EPOXY PROTECTIVE COATING, SEE SPECIAL PROVISIONS.

OSEE "ELEVATED CONCRETE WALKWAY”, SHEET 2 OF 2 FOR SPACING.

20'—4" @ FOR SLAB GRADING, SEE "ELEVATED CONCRETE WALKWAY”, SHEET 1 OF 2.
1=-6 10 1410 1-6 1-6 SEE "PARAPET DETAILS” FOR REINF. & DIMENSIONS
Ex6—W1.4xW1.4 SEE SPECIAL PROVISIONS
SEE "PLAN OF FOOTING” B W.W.F. SEE "ELEVATED CONCRETE WALKWAY”,
SHEET 2 OF 4 SEE "ELEVATED CONCRETE WALKWAY”, SHEET 2 OF 2 @
SHEET 2 OF 2 @ Bx6—W1.4xW1.4 Bx6—W1.4xW1.4
_____________________________________________________________________ I ) . A W.W.F. 2 . W.W.F. SEE "ELEVATED CONCRETE WALKWAY”,
r P =< - S AN % %) ~ ~~ SHEET 2 OF 2 @
| // \\ : A —_— [—— — 6 6 — —
I 7 N 10 o]~
| e AN N %9 7.0.S. EL. 48.530 | © : = . © © | T.0.S. EL. 48.200
| / I N — olw N N — ‘—Lx—x? OO R M ———tt—x—x——x PP T v S S— N
| 7 N - |2 2 © ‘ ® ) ) % " °
i C 7] | ' S N - S L 46v5 0 o~ of 4 . #4ve O O #4V6 - !
2 I A /A I R AN 2 : I o I z = i 7 | Sl i
| ~ VA < Z o H H s N \ ”» 2 H i
- T | it : d 7 9= | ¥ o
ki ] ] L ] ] 3 ] ] ] ] ] [ T [ ] [ =% [ ] [ [ ] [ [ T [ ] T - 7 F_r~ - N - -
0 . 7 N | 5 e “ — YA/ - S oo - - .
I I/ _:o OI \ - . N @/ “CO —CONST. \.JT. M~
| I | | \ ; ® i 11 | | S 2 x 4 KEYWAY .
o o o o D
i | 1 I ° (e
I B ‘ I I ' E <ﬁ * '_ L L 5 1/2” - ol
: o e \ Io ol l, :Lg): Ll ,m .m :“(O .m ) —_— ] |
I . i \ I' .I / °B a ”Lo 5 1 2” < . o 3_#5H4 @ 8 CTS. . o ::QO
\ | I > - / -
: | I / g = R ~ N —H < N
\ | / - A o b o : o o 0 C — o
| { b \ : J | / 2 T -3 SELECT BACKFILL MATERIAL, | " oL ~ |3
| \ ! ' / L [ Nk SEE SPECIAL PROVISIONS 0 L SELECT BACKFILL MATERIAL L
| 4 & N : | A a o e 2’ cl |l _|l.2"cL Z|"™ 2" cl. ||| /. SEE SPECIAL PROVISIONSW o 1O
I 9 » / 2 x|l . A S 9 ) R NE
SEE ”"BEARING CORBEL PLAN \ @ . A . . il B} A 9| [ 2R B a |l
: 1 I FOR REINF. & DIMENSIONS \\ - I i/ g T .oa Y 0 £ | #5v1 BARS S A I g T -
o o \\ b o // . ' B . < . 4 - a’ . ‘a4 . - L
: \\\\____—;/// : '(2 __J_—L__é 2 < . > Urvdl < . .014,. . . ; a4q . Al -
, 1} c L EY —L1— REW ] L | ° e S o g PRI 1 S T B
C I C I © 3 . . ’ - o o q . . ”.4 : 4 444 . o D:
gl v : 1 T A ’ i : Ao © q‘ AR @ - 4 ° 4sH2 (TYP. g
S5 | \ \ / l 5 Q L JL T © A | THIS FACE) . .
O | q [ #5V1 (TYP. THIS FACE) J A | = L e A - % \ #5V1 BARS o
w| % i RN % : Y 5 &
® ® i | J I \@ A | ® i #5"” (TYP) J . S5H2 (TYP) :?: 2” RELIEF FOR BRICK o o :co \:o) L #5"” (TYP‘ ) <
e : : X : ) ©| MASONRY (SEE ARCH. PLANS) o THIS FACE) ®la &
= = = o O LO - 3 .( A . L L] L
% % < I— o b b b b b b b b b b 1 — I b % T T :tlh EO N " 9 \() C :;]- ) 2 ’ ” N C( " % ‘CX_D
= =W : _l S ™ -~ © S|, #5 'V BARS S 1-6 1'—4 T 713
: — AN A ) » o > » o ] o o , ” * o , ” ~ o
3 025% | J X X I 3 78 1 -6 1'-6 Qla o =t|'= 1’=0 1'—6 ™~
S| 35|& | | S ~| & HER =
W% : ‘ . #5v7 (TYP. Ch 13
T 11 2 cL ! —2 x 4 KEYWAY e
A | THIS FACE) RS ~ (TYP)) ~ - P
o | L IMIN. (TYP.) | - " y s ~ " s F ol =l
' 1 T WORK POINT NO. 1 d ' == == =z
: - : 3 o - ~ # o o . ~ /_2 X 4 KEYWAY o o :’O ~
o o of o b Lol 4T3 b L (TYP’) | L
l I l ‘ = ‘ M= #4T1 (TYP.) oS ‘
| { | =, |~ o [ / & #aT1 (TYP.) S e #4735 (TYP.) ] & o
| #5H3 (TYP. EA. CORBEL) ad RN . 5 S / 2 M _\ 2
: 11 #5H4 (TYP. EA. CORBEL) N/ ] i I\ _ X = o / TOF. EL. 34500 ——— 1 — — ——_\3--/._/__ ’ AT.O.F. EL. 34.500 - Tl i 1
[e6] — - =~ — ~ 2 Y P ~ —o 2 Py P o P = —~
\ S . - L J L] L] L] L J L] L] L] U - - L] L] L] L] L] L] L] L] N
: | B i \ © | RER 45M1 BARS NS5 #5M1 BARS _- #5M1 BARS bole b=
I I . S ~ ~— 8 ‘ 'y (H 'y - 0 0 Y 'y ~ — 8 l | o (] '3 '3 r 3 '] r 3 '3 (] r 3 - m 0 ] 'y e Y Y * ~— 8 ~
| C o o e | O “| d L d Z L é
! : | o o ) #5T2 (TYP.) #5T4 ) #5T4 (TYP.) #5712 #5T2 (TYP.) —#5T4 )
I L lo I. 0: @ P{) P{) N')
|
l |
| -
l |
| | | 2 SECTION A—A SECTION C—=C
|
: 45 "H" BARS I : Dz‘ (STONE MASONRY OMITTED FOR CLARITY) SEC—HON B_B (BRICK MASONRY OMITTED FOR CLARITY)
| 5 "H” BARS | l A BRICK MASONRY OMITTED FOR CLARITY
| | >
| / q R 0
| 7 X " | T
x [} (] (] [} (] (] (] [} (] (] [} (] (] . [} (] (] I / I
© ! : A
: | ‘ = | / 1
@ ® ® L] ® ® L] LJ o L] L] ® ® L] ® ® L] L] o L] L] L] L] L] L] @ A
| A — L ST S R R L e \ o — oas
| | / _
| ” N T | PROJECT NO.
| 2” RELIEF _FOR BRICK L7 ©
l MASONRY (SEE ARCH. PLANS)< A —
| (TYP. EACH SIDE) RN | FORSYTH COUNTY
#5 "H” BARS (TYP.) 104+21.97/ — [ —
PR S~ STATION:
3'—0" MIN. TYP. EA. SIDE)
iy,
SPLICE (TYP.) Q(\“ CAR(}'Z' SHEET 1 OF 5
S cessig A,
11°-0" 3'—10 NN 97 % STATE OF NORTH CAROLINA
- - Piw E AN
: oia SEAL i = DEPARTMENT OF TRANSPORTATION
T % 820 3 RALEIGH
23— #5V1 & #5M1 @ 8” CTS. B A N
(TYP. EACH SIDE) %CG'NSQQ\Q\”
“, X \ o
24—#5V1 & #5M1 @ 8" CTS. g, F IO SE[E\?%TRBUE%—;UEQE
(TYP. EACH SIDE)
(STONE & BRICK MASONRY OMITTED FOR CLARITY)
REVISIONS SHEET NO.
DATE:
DRAWN BY : DATE : 10/20/95
CHECKED BY : DATE : 1/7/96 DCF92035EB1 -1




311" L 1'=4"
| BAR TYPES BILL OF MATERIALS
2 1/2" 9"\ 97 \ 1'=3" \p7\ 17=37 \S\(\2 1/27
| b b2
| A A 1 FOR END BENT 1
\/ @ 2 2 2 2
#5H3 ©| ~| o| «
R T T T BAR NO. SIZE TYPE LENGTH WEIGHT
#4He 2l o)+ ] S H1 70 45 1 20'—6” | 1497
7 e I © - H2 | 76 | #5 1 | 19'-2" | 1519
i . o —| o mf = ~ o H3 6 #5 1 13’ -8” 86
% | H 10 -0 T ¥ H4 6 5 1 [ 11-8 | 73
- | #evs H2 | 9'—3" - " H5 2 45 | sTR. | 8'-0" 17
' 0 ~ H6 12 #5 STR. 4°—117 62
——fr——fr———- ——- H3 | 8 —10" 5 ® ;'r
‘ _gn [ M1 | 200 5 2 | #—10” | 1008
— 7 #8va H4 /=9 N yn t
- 2 3'~0 V5
B T~ — 1 ‘ = | T1 24 #4 STR. 21'—6” 345
- 4)_0” \/6 S "
] —— | | == § ! o e T2 24 #5 | SR [ 21-6" | 538
J Q//\ // J R > > T3 26 f STR. | 2007 347
Nz o N = @ T 3-1.15/16
j \ * = o e - 6 Vi | 171 | #5 | SIR. | 12-6" | 2229
#4H6 BLOCK OUT a1 | o @ V2 16 45 | STR. | 10-4" 172
L S e B R B , ” I V3 14 6 3 17 209
BEARWG CORBEL PLAN 10” V5 41 #6 5 7' -8” 472
RIGHT SIDE SHOWN, LEFT SIDE SIMILAR ‘ ‘ —
( ) NOTE: ALL BAR DIMENSIONS ARE OUT TO OUT Ve 38 #4 o /=0 178
V7 13 #5 STR. [ 11°=10" | 160
[0 SEE "ELEVATED CONCRETE WALKWAY”, SHEET 2 OF 2, FOR SPACING.
® FOR SLAB GRADING, SEE "ELEVATED CONCRETE WALKWAY:, SHEET 1 OF 2.
5 - #6V5 (BETWEEN CORBELS)O]
5 —
I~ 2 X 4 KEYWAY —6x6—W1.4xW1.4
A (TYP.) W.W.F.
SEE SECTION A—A FOR :
REINF. BETWEEN CORBELS :@'—g S ~\\- — ——_ e Tos. EL‘:48‘530 *
(@]
X§ Nk i _%Iﬂ—L g 20'—4”
BEAM SEAT ol BE  H-A-UL4- -
ELEV. 45.050 /8" | 8 |~ s 12 L5 1 /2" R $_g”
\5 3/4” - | A — — TOTAL REINFORCING STEEL — LBS. 10,027
T IS
|
R | #5H4 ® R
w of PR (i G)‘? oL & CLASS 'A° CONCRETE TOTAL = 63.2 — CU. YDS.
> o a RN POUR 1 19.2 — CU. YDS.
» | 1 N N ©
3 #5H3 o " POUR 2  21.8 — CU. YDS.
A : < _|S POUR 3 22.2 — CU. YDS.
5 f > = —|g
| 1 b ol — . ”| a
w © 0
1'-2 9/16” X <
o o ITe) 2
#are \g\l ° =
. | N Q|
1'—6 - o m
|| 23
wn
N L ov3 _ | ¢ SURVEY —L1- REV. N 5
S 2'—0" >< 1'-8” g 5 lg
T i | .5 . —SELECT BACKFILL . g~
0 w4, VATERIAL, SEE 5 = _ _ _ _ _ _ - - |2
— A I SPECIAL PROVISIONS . ! 210
45H1 (TYP. , > N Sl PROJECT NO F—2987/
THIS FACE) — L . /#5H2 (TYP. e o g .
STONE THIS FACE ol N
VENEER————~ Np o] : o | f,@j = FORSYTH COUNTY
45v2 BARS < N iéili
’— ? ” > ’— ”0 ,\ S —_— —_—
1’-0" | 67| b 1'-6 2 - WORK_POINT NO.1 ég STATION: 1T0+21.97/ |
0 X
2l 2" cL il SHEET 2 OF 5
7 (TYP.)
= E STATE OF NORTH CAROLINA
= | DEPARTMENT OF TRANSPORTATION
18 . RALEIGH
) % d ‘“ullll.,,"
. sss\“"\\e\ "[-::‘4190""',’
T.OF. EL 34.50 b s S : XNoeseign, SUBSTRUCTURE
b= ~ © SN %07
f/' T B e LT Ble W I R END BENT 1
* -~ D = = H . =
J Vi ;/" CE— 7 g 77 24—#4T1 @ 10" CTS. (TOP OF SLAB) & 7 T L N 6230 @ \::
#471 (TYP.) J L L#5T4 3 24—#5T2 @ 10” CTS. (BOT. OF SLAB) 04;/"’G:N€("<<’/(\,~5
# 4T3 # 5T2 <TYP ’ ) i‘j ""'gl'p .F \S\Q\)\%\\ \‘ )

SECTION D—D PLAN OF FOOTING T S

DATE: NO

DRAWN BY :_ DJD DATE - 10{20%95 3
CHECKED BY :_EGW DATE : 1 96 DCF92035EB1—2 4




END OF RAMP

EL. 36.600 * 1'=10"
37’—0” 4’—0” | 3a_4” ’i 3y_4” | 10’_9 3/4 » 13’_0 9/1 6 ” 1 ) 4” .,
o ] 4—#5V23 @ 1'—4” CTS. (TYP. EA. FACE [ #5V1 THRU #5V22 @ 1'—4” CTS. (TYP. EA. FACE) 5
5. l— io% 4—#451 @ 1'—4" CTS. 22-#4S1 @ 1'—4” CTS.
BRICK MASONRY (TYP.) 4_‘ S T I - Fm———— - > A #4H4 (TYP. EA. FACE)
. [ ! ! | T.0.S. EL. 39.280 #4S1 (TrP.)
5 [_) _____ -t ' ' i /r\\\ — v T #5v22 #4H3 (TYP. EA. FACE) CONST. JT.
l 2 | >~ : -—— s —————— [ —
Y A N : o — | SEE "STAIR DETAILS” / >~ st T ===
i I z I © | =1 /l/ // ~< ® = - TTTTTm———g
“T : WALL "A” o I >N | i I / />~ <|s m f T T.0.S. EL. 36.780
s - 1 =] f T 52 B — R S
| s | ) RE | / / - ™~ <+ - [
| e ot ___________ 1 Ao | : 2| | 3-0 3/4 " -3 3/8" [ T~ A =K / \ V1 TOF EL 34500
~ upP | - Ts _g” 1 z - 69°<30'-20" 2
| | : - R ] o . AN <2z ) f / ‘\
~ ! i :@_{ HEES ((TYP) Y 2 / ; / S~ J ] 2'—5" MIN.
) i ' s W 4 : : = ) ;o - DY ** f4H13 L}A #4H2 (TYP. EA. FACE) SPLICE (TYP.) #4H1 (TYP. EA. FACE) (2 BAR RUNS)
o | 2 / / >~ >~
| | N el ! : | / / \\\ >~ " /
™ : | : — WALL B | | 127 1 8” 110°=29'—40" / / // \\\ \v WALL A ELEVAT I DN
i = L“__________________________‘—f —————————————————————————————————————————— 1 i l : ) ~<_ =y / (LOOKING EAST)
AR L © o] | | / ~< / / *+ SEE "CORNER SPLICE PLAN” FOR DETAILS
e L e—2=0 30'-0” 5-4" | ! ) >~
! - I ! / /
o : 2 | “ : : . ; / // #4H7 (TYP.1 E/it FACE)T
s I 14 | | N / / / 3” #5V23 THRU #5V44 @ 1'—4” CTS. (TYP. EA. FACE) [ 5-#5V45 @ 1'—4” CTS. (TYP. EA. FACE)
<!l -7~ - - -"-"-"--f]TF-"F--"F"-"F"-""-""-—"-"--"--""-—"-——-"""—"-"—"F"—="-"—¥- = "¥”"-” "-"¥"”"¥"-"¥"=-—"-—"-"—-=""-”-"”-”¥-F-=-”-"F"F"¥-”¥"”"”¥"”"¥”"¥"¥""¥""¥"¥‘"¥”=”"—"¥;/=”"¥’;/="»’‘"‘"¥"—"¥"-—"¥;"/--"—/—_——————" ._l ’ N e , ” , ”
| b : _ | o : " - " ] / / / 22-#4S1 @ 1'—4”" CTS. 5-#431 @ 1'—4” CTS.
| | N S I 6” /
. | o WALL "C —] | /I
M ™ I (TYP.) / ’_>
o~ /
r—-——-—-r—-—H—-——-------------"-"=--"-"----"""""r"-"""”"¥”"¥""“"—»”"=———F" " "¥"‘"¥"”’™"¥/™~¥‘"~"¥"~*~""«®*™"&®™~>"“~"~"~""~"™"™"™"7 I » ) / . A
: : / / CONST. JT B
! | ol ! 1/2 7 EXP. JT. MAT'l] N /
’ ” /
“ A . 1=10 I / / / #4H6 (TYP. EA. FACE
N 6 112 | I ) // // / / T.0.S. EL. 41.780
" { | o) : Yl € SURVEY -L- REV. /[ #4H5 (TYP. EA. FACE) ——— =14
S J| 4 T RSUREY SL=REV. g A R AR e e
) | Pt ————— oo 4 n Ly / #asr (vpy 0 A\ q——
- I | / ;| /e, N ——— _—
° | [ ' o // , T0S.EL 39280 || ~ —————— ==~ :
N , I ! o WALL "D” / A | e __——————— e
| ' L T _| P / W - —————CII-o————__ ®
¥ I r-——-——-—"—~—"~—FfYFT~FFTFYFT~~—F/—FFF~—F—F—F—F""F/—"F¥—""F"—W—"FY—F T T 1TTT~~—~—F"~7—F—7/JFr~~DH---n—-—n"""=—-- - >—D-—D0H-n-n=Dn"®"?"""F"""rmr7"""Vr - —"—"7"""7"m"77917 """ — ] << @@ - e~ 9y gy Ny e e —— e T —==
R | T T~_ > Q\ t P / b2,y T T T T ——. T T T ———
] ’l_ » © , » N ” ' » \\\\ - N o T T T — e T —— :
o : 5: 0 30°-0 5-0 17-2 3/8 l ST~ V7 /\ 8 A / 45723 - —— ___ T.0.S. EL. 36.780 §
~ | L xC) \\\\\ \\\ / / / —_——— T ]
l ___________________________________________________ --F.-F-FFFFFF----T-F—FF-F-—F-F--- " r"-—F-"F"F"F"-"F""F""-"F""F"F"F¥"”"¥"”"¥”"¥"¥”"="¥”"="¥"="¥"="¥"”"¥"”"¥”¥"="¥”"="¥”="”="”"="”""”""= - n-————-—-—-—-= _\\ ~ ~ / / ~
upP | S~ S~ S~ /
i : g n-11 7/16 ” Qw\;/\\ \\‘T ;o // T.0.F. EL. 34.50 \
| l =~ . - 2
W | WALL E” : 7 ~~ DT | \ | | o
N 7 ~ / [ 9
[ — - / y 2'=5" MIN. \_ l_
'-———————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————————/l —————————— | T~ / SPLICE (TYP.) #5v44 #4H1 (TYP. EA. FACE) (2 BAR RUNS)
= ~ /
© > < Vi Vi
~~_ WALL “B" ELEVATION > B
5610 1427 13/16 ~ 4—#5V67 @ 1'—4” CTS. (TYP. EA. FACE) (LOOKING EAST)
4-#451 @ 1'-4” CTS. 1'—4”
J oAy r #5v45 THRU #5V66 @ 1°—4” CTS. (TYP. EA. FACE) 3"
RAMP A Pl AN 22-#4S1 @ 1'—4”" CTS.
1'=10" I #4H4 (TYP. EA. FACE)
37’_0” 4’_0” 3a_4» ’/ 3’_4» 10’_9 3/4 » 13’_0 9/1 6 ”» CONST. JT.
T.0.S. EL. 44.280
25—#4T9 @ 1'—4” CTS. (TOP OF FOOTING) & 1.3 5 5 - i #4H3 (TYP. EA. FACE)
13—#4T79 @ 2'-8” CTS. (BOTTOM OF FOOTING) —~— = = EA e #4H2 (TYP. EA. FACE)
., 5" 5” _ » i N O Y 2t T e
2" MIN. CL. — -~ =~ 4—#476 @ 10" CTS. = Y T7.0.S. EL. 41.780
(TP ~ . (TOP & BOTTOM OF m —=—————C===—== ]
f’)l FOOTING) i = —m—————ZZIIITET--—T = W
o) ] —————— e —————
4—#475 @ 10" CTS. = |y ! 1  e——==ZZZITZIZ== J i
# f o T-O-S. EL 39.280 H I e t———— | S~ 4451 (TYP.)
. (TOP & BOTTOM OF FOOTING) . ~ 1 bt bbbt R e
0 ~ 7-#4T9 @ 1'—4” CTS. (TOP OF FTG.) & / >« < u
: ~2 4—#4T9 @ 2—8" CTS. (BOT. OF F1G) /. T~ 0 H 4 ! y
o S - - . . D ~<_ = -~ #5V66 5V45
* AN ’ < Els AR T~ = . f
4—#4T1 @ 10” CTS. (2 BAR RUNS) > L |o / / ~< ~ u |
N . — o . / \\\ N ~ =~
) | 5 (TOP & BOTTOM OF FOOTING) °l5 / ; s u
© - e oL / A NI = H f T.0.F. EL. 34.500
iy E| 1'—6” I ~ L0507 ‘
» f s N % | / / Sso=| P :N? 7
” 6 25—#4T10 @ 1'—4” CTS. (TOP OF FOOTING) & o |5 ; I - _ _
Sl . 1o 13—#4T10 @ 2'—8" CTS. (BOTTOM OF FOOTING) O | L) |~ 2 =5 MIN.
Zz ol : | / / [ L> B SPLICE (TYP.)
L |E - < | / /I o #4H1 (TYP. EA. FACE) (2 BAR RUNS)
118 s 3-#4T4 @ 9” CTS. (2 BAR RUNS) . AREY ol
“2 ol° (TOP & BOTTOM OF FOOTING) g ~|e 10 —29"40" LS/ WALL “C” ELEVATILON
©|w 5 7 ® | o —<9 - / /
ol° 2|2 5—#4T9 @ 1'—4” CTS. (TOP OF FTG.) & / ol 3 I (LOOKING EAST)
FlY S| 3—#4T9 @ 2—8" CTS. (BOT. OF FTG.) i xS | /o
*=E = 25-#4T10 @ 1'—4” CTS. (TOP OF FOOTING) & 3" I I/
© 13—#4T10 @ 2'—8" CTS. (BOTTOM OF FOOTING) 3 4—#417 @ 10" CTS. / / Y
(TOP & BOTTOM OF VY ] ,
] ] » ” o
® o} —1'—1 3—#4T1 @ 9” CTS. (2 BAR RUNS) FOOTING) / / WORK POINT NO. 1 FA /
ol = g (TOP & BOTTOM OF FOOTING) y Ly /I /
Q| o 11 Wl fl oo/
Lo* ) /o — 1'=10” ror
v =
=l ~ = N
MER c 67 25-#4T10 @ 1’—4” CTS. (TOP OF FOOTING) & { 4—#4T8 ® 10" CTS.
T 'é N o 13—#4T10 @ 2'-8" CTS. (BOTTOM OF FOOTING) (TOP & BOTTOM OF
-l © o FOOTING
olu 2|5 3—#4T4 @ 9” CTS. (2 BAR RUNS) f )
ol° 1|2 5| LY (TOP & BOTTOM OF FOOTING) | I
= | |
<+ |0 5
M|
e 5 10—#4T9 @ 1'—4” CTS. (TOP OF FTG.) &
© S s »
0 5-#4T9 @ 2'—8” CTS. (BOT. OF FTG. _
= ! f < ) PROJECT NO. - —298/
e} - ?
- 4—#4T3 @ 10” CTS. (3 BAR RUNS)
| (TOP & BOTTOM OF FOOTING) FORSYTH CO U NTY
““\lllllll""'
—~ ~ ““ “ C 0"&, _ _
2 InT 2'=5" MIN. e“@:\. -------- .(/%'o STATION: 10+21.97/ L
E SN €SS/p T
S SPLICE (TYP.) IS 1 %
;| z A
g N 45—#4T9 @ 1'—4” CTS. (TOP OF FOOTING) & : o SEAL 7@ = SHEET 3 OF 5
o = . 6230 -
Sls 23—#4T9 @ 2'—8” CTS. (BOTTOM OF FOOTING) 2 o i F
"5 % —;’;/'--.'VG;NE?’.-%(\i STATE OF NORTH CAROLINA
© (A fteeanan” ° R
~|3 fc F\SO?;\\“ DEPARTMENT OF TRANSPORTATION
5 | RETIHI\ RALEIGH
H=
<I‘_ o
- SUBSTRUCTURE
56'-10 9/16 "~ 14°=7 13/16 ”
END BENT 1
PLAN [OF FOOTING REVISIONS SHEET NO.
NO|  BY: DATE: NO|  BY: DATE:
TOTAL
DRAWN BY : _ DJD pDATE : 10/28/95 /N b | 5/14/97 |3 SHEETS
CHECKED BY :_EGW DATE : 1/8/96 _ DCF92055EB1=3 19 4




5-#5V89 @ 1'—4” CTS. (TYP. EA. FACE)

4-#5V103 @ 1°—4” CTS. (DRILL & GROUT) (TYP. EA. FACE)

— 7-#5V102 @ 1'—4” CTS. (TYP. EA. FACE)
5—#4S1 15@ 41”—4 CTS. 4—#5V67 @ 1'—4" CTS. (TYP. EA. FACE) & 5-#5vV89 @ 1'—4” CTS. (TYP. EA. FACE) 74451 @ 1'—4" CTs. 4—4451 @ 1'-4" CTS.
3" #5V67 THRU #5v88 @ 1'—4" CTS. (TYP. EA. FACE) T 4—#4S1 @ 1'—4" CTS. 4-#451 @ 1'—4" CTS - v o am
] 22-#4S1 @ 1'—4" CTS 1—4"— tos L T
g : 1'—47 #5V68 THRU #5v88 @ 1'—4” CTS. (TYP. EA. FACE) ] _| #5V90 THRU #5V101 @ 1'—4” CTS. (TYP. EA. FACE) _| _| 1'-5
b T.0.S. EL. 46.780 21-#4S1 @ 1'—4” CTS. 12-#4S1 @ 1'—4" CTS.
44HE (TYP. EA. FACE) #4H7 (TYP. EA. FACE) e —— A #4H12 (TYP. EA. FACE)
CONST. JT. e P ——— +— l T.0.S. EL. 46.780 #4H11 (TYP. EA. FACE) 451 (TYP. K
BaHs (YP. EAL FACE) — TN A = , #4s1 (TYP.) T.0.S. EL. 48.200
I B e = — ! #4H10 (TYP. EA. FACE) (2 BARRUNS) — | | | \ T == C=————--——--—F--F---—------1
105 EL 44280 | _/ ———— v —————"7 7 i #4H9 (TYP. EA. FACE) (2 BAR RUNS) - CCIZ=--—T7 T |
P ==— =SS S o —— | O ————— bt
W Se—— S TTTT o | CONST. JT. — - ———SCCETH—————————— i |
#5v67 l ————=IIz---- ——____ T.0.S. EL. 41.780— ! ) - STEE--— T i
=====SITTIzoo——— - R — N o T.OS. EL. 44.280 ——— |
=7 | —— e b
e Fe=zmm===s =E= f |
! 5 || f i .
! - i ! i -
' 2 | f | ®
: a = .
, | ——#5V68 J | &
: | f | 0
' ! ! ! -
L} v
T.O.F. EL. 34.500 ' ' ! ! |
: i i
| N ! | | .
2'—5" MIN. ! !
L> B SPLICE (TYP.) #5v88 | i
#4H1 (TYP. EA. FACE) (2 BAR RUNS) ! ' ' ' . _ i T.0.F. EL. 34.500
| N N . | | | % N
/I 7
WALL “D" ELEVATION —+— r : : b
* f4H14 #4H8 (TYP. EA. FACE) (3 BAR RUNS)
(LOOKING EAST) 25" MIN. #5v88 #5v90 #5v101
SPLICE (TYP.) A <
Vi Vi
WALL "B ELEVATION
(LOOKING EAST)
*% SEE "CORNER SPLICE PLAN” FOR DETAILS
7-#4s1
CONST. JT.—\ (SPLICED WITH #5V67 BARS)
4451 (TYP.) A < 7-#5V111 @ 1'—4” CTS. (TYP. EA. FACE)
5 4 " BARS #5V104 THRU #5V110 @ 1°—4” CTS. (TYP. EA. FACE) 7—#451 @ 1—-4" CIS.
s ER #ROM WALL "A” (TYP.) T.0.S. EL. 44.280 7-#4S1 @ 1'-4" CTS.
SIFE & : = — #5V104 THRU #5V110 @ 1'—4” CTS. (TYP. EA. FACE)
S|z ® 7—#4S1 R o o |‘1"4" o 1'-4” 7-#4ST @ 1-4" CTs.
SR (SPLICED WITH #5V23 BARS) | I H 0 4 Hario1 (TYP. 2-#5V111 %_; 4—841 éTS1.’ _(‘TJPCTEA. FACE)I 47
o|53 A <+ : iRk c - or ) _ce
= u H=
3o | . ol ” SEE "STARR (TYP.) T.0.S. EL. 42.370 7.0.S. EL. 42.370 (TYP.)
ke | I | H i DETAILS " | " | SEE "STAIR
Y= T.0.S. EL. 39.280 l - S S },4— NI S i DETAILS”
= ] I I .H +| =< I 4 T
=~ :1{- ———————————————— -8 2= I @ | #4H28 (TYP. A
=k =i I'H NE N ] ) ) EA. FACE) 7
sl H W= | . :
Eik 2l B BN ° | g /Y
H. ! =1 = 1S \ \ \:\——#4H20 (tve. © °© ’ /
=ik b | [ % p \ \ | L] e FacE) g fenee (v / N
LO.F. EL. 54.500 By Fls \ =i > T.0.S. EL. 36.600 + [_//* \ ~—#5vi104 | \ l % o EA. FACE) * S1] T.0.S. EL. 36.600 +
ol : \ o] ' 3 - .
! 5V110 b \ \ \ ' #4H25 (TYP. | A #5V110
# ' EA. FACE)
\ \ T.0.F. EL. 34.500 * \ \ \ \ | T.0.F. EL. 34.500 / \ \
2'=5" MIN. ' \ ' [ L \ \
A v VSPLICE (TYP.) \ \ \ \ ! ! W o —
A <J #4H15 (TYP. EA. FACE) | \—#4H16 (TYP. \—#4H17 (TYP. \—#4H18 (TYP. \—#4H19 (TYP. ﬁ:H%‘/KC(ET)YU C{J ﬁ:H%ngYﬂ #4H22 (TYP.
EA. FACE) EA. FACE) EA. FACE) EA. FACE) ~ . EA. FACE)
3 9-#5V23 @ 1'-4” CTS. 9-#5V67 @ 1'-4" CTS. 3" C WALL "H” ELEVATION
A 7
* SEE "CORNER SPLICE PLAN” FOR DETAILS. \/\/AU_ G ELEVAT 1 DN (LOOKING NORTH)
. (LOOKING SOUTH)
WALL “F” ELEVATION
(LOOKING SOUTH)
#5V123 THRU #5V129 @ 1'—4” CTS. (TYP. EA. FACE)
14" 7-#451 @ 14" CIS. @ 1—4" CTs.
2 SPA. @ 1'—4” (TYP. EA. FACE) | 4"
#5V112 THRU #5121 @ 1'—4” CTS. (TYP. EA. FACE) 3—F4ST @ 14" CTS.
11—#4S1 @ 1'—4” CTS. (IN STEPS & LANDINGS)
o CONST. JT.
o | 1T-0 - T.0.S. EL. 48.200
\
I
C{—‘ #4H30 T.O.F. EL. 48.200 I
—i——m . #4H38 (TYP. B
w L2 of e moe | et e PROJECT NO. £E—298/
i r=2_Z #4H37 (TYP. ,,
— —a C Ea. FACE) /)I’ DETAILS
| ” - S FORSYTH
i SEE "STAR = N & #aHze (vp. /| | COUNTY
- | const. J1— DETAIS™ = [~ &eo) o EA. FACE) | R
| r=a 7 I/ T.0.S. EL. 42.370 ““\‘(‘\ CA /?'"""
| i g : | ' SQw.Mo, STATION: 10+21.9/ —L—
g , X 10 \ SSEss i, .
5l L1105 B 42370 5 A s (e |/ M- #4H33 (TYP. §Yaet %
Tl ] e ————— - . v =
|8 A - S| BAFACE) l EA. FACE) £ ia SEAL ¥: X SHEET 4 OF 5
ol : 5| 2 ﬁ:Hﬁc(ET)YP’ |/ T i W0 ;i 3
q == . —I O N
o & 4 : o| < | P #5v129 %QV;®¢G/NE@Q$§ STATE OF NORTH CAROLINA
I|e | " #4H32 (TYP. #5v123 WD N
g L e P ole 2O RN DEPARTMENT OF TRANSPORTATION
| | P T RALEIGH
0 | #5v122 (DRILL & GROUT) N2l A
| (TYP. EA. FACE) TOF. EL 34500 ! N
| B == SUBSTRUCTURE
LOF. EL. 34500 . I ! : . ?%\QZEA(D&(L:LE)& GrouT) /. F—=—7= FND BENT 1
~ ? ! ! s - EA C < #5V129 (TYP. EA. FACE)
C{J EXIST. FTG. EXIST. FTG.
7 /I
LOOKING EAST
( ) (LOOKING WEST)
REVISIONS SHEET NO.
NOo|  BY: DATE: No|  BY: DATE: S—357
TOTAL
DRAWN BY :__ DJD DATE :10/28/95 DD | 5/14/97 | 5 SHEETS
CHECKED BY :_EGW DATE : 1/8/96 DCF92055EB1=4 [0 4 50




	D2
	D3
	D4
	D5
	D6
	D7
	D8
	D9
	D10
	D11
	D12
	D13
	D14
	D15
	E1
	E2
	EB1-1
	EB1-2
	EB1-3
	EB1-4

